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Guess Paper – 2007

Class – XII

Accountancy
TIME: 2 HOUR                                                                                                                                      MAX. MARKS:    15
Section - A

Q. 1 :   R & T are partners in a firm sharing profits in the ratio of 3 : 2. S joins the firm. R surrenders l/4th of his  
         share and T 1/5th of his share in favour of S. Find the new profit sharing ratio.                                          2
Q. 2 : Usha and Asha are partners in a firm sharing profits in the ratio of 3 : 2. Their Balance Sheet on 31st March,  
          2003 was as follows :                           
	Liabilities
	Rs.
	Assets
	Rs.

	Creditors
	27,000
	Cash
	24,000

	General Reserve
	18,000
	Debtors                                      48,000

Less Provision for Bad Debts      4,800
	43,200

	Bills Payable
	5,000
	Stock
	30,000

	Capitals : Usha 40,000 ; Asha 35,000
	75,000
	Patents
	7,400

	
	
	Building
	20,400

	
	1,25,000
	
	1,25,000


         Neelam is admitted into the partnership giving her l/5th share in the profits. Neelam is to bring in Rs. 30,000  
         as her capital and her share of goodwill in Cash subject to the following terms:
(a)    Goodwill of the firm to be valued at Rs. 50,000.

(b)    Stock to be reduced by 10 % and Provision for Bad Debts be reduced by Rs. 2,400.

(c)     Patents are valueless. (d) There was a claim against the firm for damages amounting to Rs. 2,000.  
         The claim has now been   accepted.

        Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of the new firm.                4
Q.  3 : A & B are  partners  sharing  profits in the ratio of 5:3. They admit C in the Firm for 3/10th share in profit 
         which he takes 2/10th from A & 1/10th from B. C brings Rs. 30,000 as premium in cash out of his share of 
         Rs. 7,800/-. Goodwill  A/c does not appear in the Books of  A & B. Give necessary Journal Entries.            4                                                                                                                                              
Q.  4 : A & B are partners of  3:2 as on  1ST JAN,1999.
LIABILITIES:  SUNDRY CREDITORS Rs. 51,000; WORKMEN’S COMPENSATION FUND Rs. 4,000; 

                             CAPITAL:  A ---Rs. 1,00,000; B --- Rs. 1,20,000

ASSETS : GOODWILL Rs. 15,000; PROFIT & LOSS A/c Rs. 15,000; PLANT Rs. 75,000; PATENTS Rs. 8,000;

                   STOCK Rs. 80,000; DEBTORS Rs. 62,000; CASH Rs. 20,000.
             On this  date they agreed to admit C on following terms:
· C will get 3/10TH share which he shall acquire 1/5TH from A & 1/10TH from B, he will bring in Rs. 60,000 as his Capital.

· Goodwill of the Firm was Rs. 40,000 & partners decide to write off goodwill from the books of the Firm.
· Plant is valued at Rs. 60,000 & Stock at Rs. 70,000.

· Claim on A/c of Workmen’s Compensation Fund is Rs. 6,000 and Patents should be written off.

· Investments of Rs. 5000 which didn’t appear in the books should be duly recorded.
· B is to withdraw Rs. 20,000 in cash. 
          Give Journal Entries, Revaluation A/c & Partners Capital A/c of new firm.                                                 5   
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